
    

    

A. A. A. A.     

(1)(1)(1)(1)            アアアア    (2)(2)(2)(2)            ウウウウ    (3)(3)(3)(3)            エエエエ    (4)(4)(4)(4)            イイイイ    (5)(5)(5)(5)        アアアア            

(6)(6)(6)(6)            エエエエ    (7)(7)(7)(7)    ウウウウ    (8)(8)(8)(8)            イイイイ        (9)(9)(9)(9)            ウウウウ    (10)(10)(10)(10)            イイイイ    

B.   B.   B.   B.       

(1)(1)(1)(1)        ウウウウ    (2)(2)(2)(2)            イイイイ    (3)(3)(3)(3)        アアアア    (4)(4)(4)(4)            エエエエ    (5)(5)(5)(5)        アアアア    

C.C.C.C.        

    

        

D.D.D.D.    

(1)(1)(1)(1)    カカカカ    (2)(2)(2)(2)    イイイイ    (3)(3)(3)(3)    オオオオ    (4)(4)(4)(4)    アアアア    (5)(5)(5)(5)    キキキキ    

E.E.E.E.                    問１問１問１問１    

(1)(1)(1)(1)    ウウウウ    (2)(2)(2)(2)    カカカカ    (3)(3)(3)(3)    エエエエ    (4)(4)(4)(4)    イイイイ    (5)(5)(5)(5)    アアアア    

                    問２問２問２問２    

((((アアアア))))            nnnno matter where you measure ito matter where you measure ito matter where you measure ito matter where you measure it    

                    問問問問３３３３    

using electricityusing electricityusing electricityusing electricity    heating our homesheating our homesheating our homesheating our homes    driving around town driving around town driving around town driving around town     

                        問４問４問４問４    

アアアア    It’s It’s It’s It’s ((((    carboncarboncarboncarbon        ) (  ) (  ) (  ) (  dioxidedioxidedioxidedioxide            ))))....    イイイイ    (  (  (  (  NoNoNoNo        ), (  ), (  ), (  ), (  theytheytheythey            ) ( ) ( ) ( ) ( dondondondon’’’’tttt        ).).).).    

                        問問問問５５５５    

                イイイイ    

    

(1)(1)(1)(1)    ウウウウ    オオオオ    イイイイ    アアアア    エエエエ    

(2)(2)(2)(2)    ウウウウ    オオオオ    アアアア    エエエエ    イイイイ    

(3)(3)(3)(3)    オオオオ    ウウウウ    アアアア    イイイイ    エエエエ    

(4)(4)(4)(4)    イイイイ    オオオオ    アアアア    ウウウウ    エエエエ    

(5)(5)(5)(5)    オオオオ    ウウウウ    イイイイ    エエエエ    アアアア    

各２点各２点各２点各２点    

(20)(20)(20)(20)    

各各各各３３３３点点点点    

(15)(15)(15)(15)    

各各各各４４４４点点点点    

(20)(20)(20)(20)    

各３点各３点各３点各３点    

        (15)(15)(15)(15)    

各２点各２点各２点各２点    

        (10)(10)(10)(10)    

 ３点３点３点３点    

        (3)(3)(3)(3)    

各３点各３点各３点各３点    

(9)(9)(9)(9)    

各３点各３点各３点各３点    

    (6)(6)(6)(6)    

 ２点２点２点２点    

(2)(2)(2)(2)    

英 語 問 題 Ⅰ 模 範 解 答英 語 問 題 Ⅰ 模 範 解 答英 語 問 題 Ⅰ 模 範 解 答英 語 問 題 Ⅰ 模 範 解 答     


